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LS N S NV VR

I '» mwn: list of those who get na»w: “a woman and her daughter” and 1n> na
a  Subsumed under “7n2) YN
i daughter, son’s daughter and daughter’s daughter
ii ~ wife’s daughter, her daughter and wife’s son’s daughter
iii mother-in-law, her mother and wife’s father’s mother
II  Analysis:
a  From use of “nna1y nwR”, as opposed to “a woman after marrying her daughter” - both are mmoR (na™w)
i According to »aR (see below, 1), our mwn could be y™, who reads v. 1 as referring to 1mnn oXy 1mnn
ii  But:according to X1, both ™ and YRynw’ "1 agree that ymnn oX is not explicit in text — who is author?
1 Answer: X211 reads our mwn as “a woman after marrying her daughter”
iii ~ Challenges from end of 7)wp: derivation to include ymnn is difficult to both X271 »aR; 1mnn R a challenge to »ar
1 Answers: included along with ynn ox (for metrical purposes) which, all agree, is not explicit
b Source:vv.1 and 2 are tied via nnr::nnt, giving us (W1 NINIR) ancestry::descendence; male::female; “up”::"down”
i Analysis:
1 Male::female: »aR — equates man’s own consanguinity with his wife’s, as per 817's report of 01118 72 pn’ '7's
nwIT tying v. 3 to v. 2 to v. 1 via nan:nan, nnt:nnt
2 “up” “down”: cannot mean son’s daughter::daughter’s daughter — they’re mentioned together
(a) Rather: must mean FIL’s mother::MIL’s mother
(i) Challenge: then it should read “down like up”, not “up like down”
(ii) Amnswer: there is a version of the ®n»1a that reads “down like up”
1. Challenge: then nnr::nnt gains nothing — there is no nnt written in re: ymnn oXY von oR
(b) Alternatively (»a8): just as we go down 3 generations; so we go up 3 generations (Yn1nn oXR ,1nN DR)
(i) And:justas “down:up” re: wny, so too with nanm
(c) »wx 7. nonY/nYynY refer to proximity/distance of consanguinity
(i) challenge: if so, just as her M’s M is Ny, so his M’s M should be nmyoR (she isn’t n”nn -— she’s a n1w)
1. defense (»an): verse states X0 nR — limits liability to one generation
2. Defense (%37): whether we apply w1 broadly (n1»m n1n 1) or narrowly (nInRa 'pRY NN N1)-defeated
a. 77 challenge —just as NnR DR is N9V, so 1R & should be
i.  However: if N9 is more severe (v™), 1R is N»poa
ii.  And:1p —if mr is nYpo3, how could 1R DR be narmwa?
iii. And:in her case, we don’t distinguish between generations (n9v); here we do?
iv. Note: according to 13239 (nMnn n%’po) —last challenge is only valid one — and sufficient
b. 27%1p7 we would give n%’po to 1R DR
i.  If: namw is severe, note that NnR is N97W, but here n%poa MK
ii. And:just as we don't distinguish between nna and nnX DR, so 1R DRY N2 P2 PONN RY
iii. Note: according to 1339 ("MnN N%’po) —last challenge is only valid one — and sufficient
(ii) Further challenge: just as his daughter-in-law is 1710, so too his wife’s DIL (who is nimn)
1. defense (»an): verse states X0 R0 712 NWR — limits liability to his DIL, not her’s
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2. Defense (827): whether we apply w"n broadly (n12m n1n 1) or narrowly (nInRa 'Ry nn P1)-defeated
a. 77 challenge —just as 1n%2 is N»’{pv3, so NnYa should be n%poa
i.  However: if n>’pv is more severe (1121), he gets n%’po for 1R but na™w for nnr
ii. And:his daughter is na»w but her DIL would be n%po?
iii. And: his own circumstances argue — his daughter is na»w and his DIL is n%pv
iv. Rather:just as in his case, we don’t distinguish between his mother and his DIL
v.  So too: in her case, we don’t distinguish between her mother and her DIL
vi. Note: according to w”1 (77 nn n91w) — only the last question is valid (and sufficient)
b. 27497 just as NMOR MY, so too "Y1 — but here it would be N9 — as per nnk
i.  Challenge: according to 1319, YR is n%’po3, but ymnn is narwva
ii. And:just as we distinguish between 1mn%3/1n3, we should distinguish between nn%>/nna
iii. Note: according to w™ (nMnn n9»w) — only the last question is valid (and sufficient)
ii  Source for wnyfor 1wouND NI
1 »anxp —if he is punished for his D’s D, certainly for 1na
(a) Challenge: YT 10 PVNY PR
(i) Defense: this isn’t derived via v"p, it is just a clarification
2 Nz7 001,00 ,MN MmN (as per above)
3 pan 17 man from v. 4 (102 na)
(a) Challenge: she gets n9»w but not her paramour (72’po or pan);
(i) Similarly: should be that the daughter gets na»w but father gets something else
(b) Defensel (77an): v. 4 points to her defiling father’s house — but here, where n%%n n7ar — both get same
(c) Defense2 (x37): in that case, the paramour was “moved” from 113 na 17 to YR’ N1 (Oy11) 17
(i) But:in this case, there is nowhere to move him to
iii  Source for 7778 for 1OLND 102:
1 According to N271 725 same as source for W1 (above)
2 But: according to 1’ar 37 mar — what is his source?
(a) Answer: RYPR " —V. 5
(b) Challenge: this is 19oR of handing his daughter over to a man for sexual purposes other than marriage
(i) Answer: then, it could state Ynn &Y — 5Y9nn XY implies both
(ii) Question: how do 811 »ar understand Yonn RY?
1. Answer: this is the prohibition of marrying off a daughter to an old man
a.  Reason: she will likely vnnn nam (due to his age)
2. As per: Rparewv. 5
a. ~”7.refers to marrying a daughter off to a jpr
b. 77 refers to marrying a daughter as a nna (explanation below)
i.  y”7 owa X775 7. a poor man is a DYIY YW1 who kept his daughter around beyond mar-
riageable age to work at the house and delayed marrying her off
ii. Tangential advice from y”1 bwa 5™ be careful about one who gives self-serving advice
3. 27 one who marries his daughter to a jpr or marries a woman off to his minor son and one who re-
turns an N7°aR to a non->87v’ is considered the referent of v. 6
a.  Challenge: loving one’s wife like himself, honoring her more than himself, guiding his chil-
dren in a straight path and marrying off his children j71°95 700 - gets v. 7!
b.  Answer: if they are just at that point, it is permissible (not later)
c.  Tangential parallel X772 v. 8
III Exegesis of v. 1 — jnnxy My
a  YRYynw : 11Nk means “one of them” (the second one married), as per Greek meaning of 81’1 (one)
b »™: 1R means “both of them” and the referents are mother-in-law and her mother
i »aro™yy™ agree on naYn, disagree about meaning of text; ymnn bR (to ») inferred from nwaT
ii  x27: they agree that ymnn or is not explicit; ¥ means that they must both be alive for 1979’8 to obtain; »* holds
MR exists even if only one is alive
1  Meaning: if daughter (wife) died, »" still finds full liability for ymnn; ™ — 8n%ya NoR
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